
1pc

1pc 1pc

1pc 1pc 1pc

1pc1pc2pcs 4pcs

a
b
c
d
e

10pcs

2pcs

10pcs

14pcs
6pcs

24pcs

M6x35
M15x10
M4x12

M4x12

M3x14

M6x30
M4x35

f 8pcs
g

4pcsh
8pcsk
8pcsm
2pcs
2pcs

n
o

4pcsr

43540938  MORGAN SIDEBOARD

MAXIMUM SAFE LOAD: TOP 15KGS,SHELF 10KGS/LAYER.

WARNING: DO NOT STAND, SIT OR LEAN ON THIS UNIT. DO NOT USE THIS UNIT AS A STEP LADDER OR AS A CHOPPING SURFACE. 
KEEP AWAY FROM CHILDREN AND BABIES. ADULT ASSEMBLY REQUIRED. USE ONLY ON A FLAT SURFACE. DO NOT USE THIS UNIT 
UNLESS ALL BOLTS AND SCREWS ARE FIRMLY SECURED.
CARE INSTRUCTIONS: TO BE ASSEMBLED ON A CLEAN, DRY AND SMOOTH SURFACE. WIPE CLEAN WITH A SOFT DAMP CLOTH. 
NEVER USE SCOURERS, ABRASIVES OR CHEMICAL SOLVENTS. CHECK AND TIGHTEN ALL PARTS REGULARLY. KEEP AWAY FROM 
MOISTURE AND DIRECT SUNLIGHT. STORE IN A DRY PLACE. FOR INDOOR AND DOMESTIC USE O

⑨

⑨ ⑩

⑩



step 1 step 2

step 3 step 4 

a

a

a

a

a

a

a

a
a

a
b

b

e

e

b

b
b

b

b

b
b

b b

d

d

d
dd

d
d

d

d
d

a x 10 b x 6 d x 4

b x 4 d x 4

⑨

e x 2



step 5 step 6

step 7 step 8

e
e

e

e

d
d

d
d

m

m

ff

f

f

f f f

f

m

m

m

m

m

m

m

m

k

k

n n

n

f x 8

e x 4 d x 4

n x 2 m x 8k x 8



step 9 step 10

step 11 step 12

g

g

c
c

c c cx4

cc

c
c c

cx4

cx4

c

cc

cx4

c
c

h

h

h

hh

r r

r

cc

r

cc

o
o

o

h x 4 c x 8r x 4 g x 2 c x 8

c x 8 o x 2

��������������������������������
������

⑩

⑩



H
in

ge
r 

A
dj

us
tm

en
t T

ip
s 

   
   

 N
ot

ed
:  

Th
e 

do
or

 m
ig

ht
 b

e 
sc

ra
pi

ng
, b

um
pi

ng
, m

is
al

ig
ne

d 
w

he
n 

fir
st

 a
ss

em
bl

y.
  

Pl
ea

se
 fo

llo
w

 th
e 

be
lo

w
 ti

ps
: 

  

 
   Ad

ju
st

 th
e 

do
or

 u
p 

an
d 

do
w

n 
 

1.
 

Lo
os

en
 th

e 
tw

o 
m

ou
nt

in
g 

sc
re

w
s 

on
 b

ot
h 

hi
ng

es
, b

ut
 o

nl
y 

sl
ig

ht
ly

. .
.. 

2.
 

G
en

tly
 c

lo
se

 th
e 

ca
bi

ne
t d

oo
r. 

3.
 

W
ith

 th
e 

do
or

 s
til

l c
lo

se
d,

 a
dj

us
t t

he
 c

ab
in

et
 d

oo
r t

o 
th

e 
de

si
re

d 
he

ig
ht

. 
4.

 
O

pe
n 

th
e 

ca
bi

ne
t d

oo
r a

ga
in

, b
ei

ng
 c

ar
ef

ul
 n

ot
 to

 jo
st

le
 th

e 
do

or
 o

ut
 o

f p
os

iti
on

. 
5.

 
R

et
ig

ht
en

 th
e 

sc
re

w
s 

by
 h

an
d.

 
 

 

 
    

M
ov

e 
th

e 
do

or
 in

 a
nd

 o
ut
  

 
   

 If
 th

e 
do

or
 d

oe
sn

't 
m

ee
t t

he
 b

ox
 a

t t
he

 to
p,

 a
dj

us
t t

he
 to

p 
hi

ng
e 

to
w

ar
d 

th
e 

ca
bi

ne
t a

nd
/o

r 
ad

ju
st

 th
e 

bo
tto

m
 h

in
ge

 a
w

ay
 fr

om
 th

e 
ca

bi
ne

t. 
If 

th
e 

do
or

 is
 g

ap
pe

d 
at

 th
e 

bo
tto

m
, d

o 
th

e 
re

ve
rs

e.
 

 
 

 
   
 

  
M

ov
e 

th
e 

do
or

 ri
gh

t o
r l

ef
t  

 
 

   
 Y

ou
 c

an
 a

dj
us

t o
ne

 o
r b

ot
h 

hi
ng

es
 o

n 
ea

ch
 d

oo
r, 

de
pe

nd
in

g 
on

 h
ow

 m
uc

h 
co

rre
ct

io
n 

it 
ne

ed
s.

 If
 th

e 
do

or
 s

ee
m

s 
to

 b
e 

til
tin

g 
do

w
n 

to
 th

e 
rig

ht
, t

ur
n 

th
e 

si
de

-to
-s

id
e 

sc
re

w
 o

n 
th

e 
to

p 
hi

ng
e 

so
 th

e 
hi

ng
e 

pu
lls

 c
lo

se
r t

o 
th

e 
si

de
 o

f t
he

 c
ab

in
et

 b
ox

, m
ov

in
g 

th
e 

to
p 

of
 th

e 
do

or
 to

 
th

e 
le

ft.
 


